Name:

Date:

Teacher:

Class:

Subtraction 505

What do you call a boomerang that doesn't work? A stick.

Subtract these numbers to find the total.

Some questions involve trading.

1 2,178 % 6,468 3 9,448 + 8,427 > 4.605 & 6,431
- 1967 — 932 995 -—-1,7056 - 2,377 3,570
! 8,450 & 8,065 ¢ 3,428 10 7658 11 6,660 12 3,643
- 6,677 — 7,895 1,685 - 4140 - 658 1,657
13. 3,739 14 32351 1084 16 46411 7,177 18 6,275
— 2,922 - 2,265 737 - 709 - 5,663 1,541
194,064 2 7,104 2% 9,063 2 5566 2 4,797 2 7,489
- 3,251 - 1,439 2,212 - 3,321 - 2,729 1,564
25. 28512 47012 43532 33552 76213 3836
- 1,752 - 1,084 4011 - 1,153 - 6,779 925
3l. 4485 382 5699 33 9159 3 7008 3 7369 36 7585
- 2,820 - 3,367 1,908 - 1,744 — 5,054 4,269
37. 5027 88 2142 39 7525 40 5506
- 2,013 - 1,457 7,083 — 3,976
© Facilitators Ferriswheel WS#:Sub505 Score:



Answer Key

Date:

Teacher:

Class:

Subtraction 505

What do you call a boomerang that doesn't work? A stick.

Subtract these numbers to find the total.

Some questions involve trading.

L 2,178 % 6,468 3 9,448 + 8,427 > 4.605 & 6,431
- 1967 — 932 995 -—-1,7056 - 2,377 3,570
211 5,536 8,453 6,722 2,228 2,861
7 8,450 & 8,065 ¢ 3,428 10 7658 11 6,660 12 3,643
- 6,677 — 7,895 1,685 - 4140 - 658 1,657
1,773 170 1,743 3,518 6,002 1,986
13- 3,739 ¥ 323515 1,084 % 4,641 7,177 % 6,275
— 2,922 - 2,265 737 - 709 - 5,663 1,541
817 970 347 3,932 1,514 4,734
194,064 2 7,104 2% 9,063 2 5566 2 4,797 2 7,489
- 3,251 - 1,439 2,212 - 3,321 - 2,729 1,564
813 5,665 6,851 2,245 2,068 5,925
25. 28512 47012 43532 33552 76213 3836
- 1,752 - 1,084 4011 - 1,153 - 6,779 925
1,099 3,617 342 2,202 842 2,911
3l. 4485 382 5699 33 9159 3 7008 3 7369 36 7585
- 2,820 - 3,367 1,908 - 1,744 — 5,054 4,269
1,665 2,332 7,251 5,264 2,315 3,316
37. 5027 88 2142 39 7525 40 5506
- 2,013 - 1,457 7,083 — 3,976
3,914 685 442 1,530
© Facilitators Ferriswheel WS#:Sub505 Score:



